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Question: 1 
   
What does the Cost-based optimizer use to get the best execution plan? 
 
A. option 1 & 2 
B. The number of distinct values and indexes 
C. Consider the primary keys of the views 
D. The average size of each column 
 

Answer: A     
 

Question: 2 
   
What are the steps performed by the Denodo Optimizer to apply join Reordering? 
 
A. Push down the group by first and then reorder the join operations 
B. Reorders the join operations first and then pushes down the group by operations 
C. It just reorders the join for the view in which join reordering is required 
D. It pushed down operations to the data source and then applies suitable join 
 

Answer: B     
 

Question: 3 
   
Which of the following will affect query execution times? 
 
A. Data source delegation 
B. Join strategies. 
C. All the other options 
D. Data movement 
 

Answer: C     
 

Question: 4 
   
What are the possible statuses of an interface view? 
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A. Ok, without definition or without implementation 
B. Ok, invalid or without implementation 
C. Invalid, without definition or without implementation 
D. Ok or invalid 
 

Answer: B     
 

Question: 5 
   
To correctly execute an interface, the interface must be in the status 
 
A. Without implementation 
B. Extended 
C. Invalid 
D. Ok 
 

Answer: D     
 

Question: 6 
   
Which of the following statements is false about Data Movement? 
 
A. Only JDBC data sources can be a Data Movement target 
B. It is not possible to apply a Data Movement to a base view, only to derived views 
C. Data Movement provides a way to execute queries more efficiently. 
D. Data Movement can improve performance up to several orders of magnitude 
 

Answer: B     
 

Question: 7 
   
Which of the following authentication methods are available to access Web services? 
 
A. WS-Security Basic, WS-Security Basic with LDAP, WS-Security Digest, HTTPS, HTTP Digest 
authentication, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO 
B. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP Basic with LDAP, HTTP SPNEGO. 
C. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP SPNEGO 
D. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO. 
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Answer: C     
 

Question: 8 
   
Which of the following statements about the 'stream tuples' option of an Excel data source is false? 
 
A. When the base view is created the server receives the entire document and then parses it thus having 
to store the whole document in memory. 
B. The memory consumption is much lower. 
C. The server optimizes the processing so it does not require the entire document to be realized in 
memory before processing it. 
D. The server optimizes the processing so it does not require the entire document to be realized in 
memory before processing it and the memory consumption is much lower 
 

Answer: A     
 

Question: 9 
   
------------------- is the graphical tool that enables the integration between Denodo Virtual DataPort and 
third-party modeling tools 
 
A. Denodo Platform 
B. Solution Manager 
C. Diagnostic Monitoring Tool 
D. Denodo Model Bridge 
 

Answer: A     
 

Question: 10 
   
Which of the following is not a supported authentication method for publishing web services? 
 
A. HTTP Basic with VDP 
B. HTTP Basic 
C. HTTP Digest 
D. All the other authentication method are supported for publishing web services. 
 

Answer: D     
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